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Question No.1 Marks: 1.00
Bookmark

Fill in the blanks with suitable Preposition from the given alternatives.

She went to the United States summer holidays.
(A) O at

(B) ® on (Chosen option)

(C) O since

(D) O during (Correct Answer)

Question No.2 Marks: 1.00

Bookmark
Fill in the blank with suitable word from the given options.

Babies around so much because they haven’t developed the coordination
to balance on their feet yet.
(A) O build

(B) @ crawl (Correct Answer) (Chosen option)
(C) O burst
(D) O extend

Question No.3 Marks: 1.00

Bookmark
Fill in the blank with suitable tense.

The author a crime novel.
(A) O have wrote

(B) O have written
(C) O writes
(D) @ has written (Correct Answer) (Chosen option)

Question No.4 Marks: 1.00

Bookmark
Choose the word which means most nearly the same as the given word " VIGNETTE ".

(A) O Vagueness
(B) © Ambiguity
(C) O Nonsense
(D) O Depiction (Correct Answer)

Question No.5 Marks: 1.00

Bookmark
Replace the underlined phrase grammatically and conceptually with the help of the given
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options. If the given sentence is correct then select the option 'The given sentence is
correct'.

For students, the death of a friend or a loved one can be confusing and disorienting.
(A) O can confusing and disorienting

(B) O can be confused and disorienting
(C) O can confuse and disorienting
(D) @ The given sentence is correct (Correct Answer) (Chosen option)

Question No.6 Marks: 1.00
Bookmark
Fill in the blanks with suitable Preposition from the given alternatives.
Several cities have dramatically improved their air quality recent years.
(A) O on

(B) O except
(C) O along
(D) @ in (Correct Answer) (Chosen option)

Question No.7 Marks: 1.00

Bookmark
Fill in the blank with the appropriate article a, an, or the, or select the option ‘No article’ if
no article is needed.

What about going to London in June?
(A) @ the (Chosen option)

(B) O
(C) O No article (Correct Answer)
(D) O an

Question No.8 Marks: 1.00

Bookmark
Find the word which is correctly spelt from the given options.

(A) ® Peculier (Chosen option)

(B) O Unmitigatad

(C) O Reproache

(D) O Unanimity (Correct Answer)

Question No.9 Marks: 1.00

Bookmark
Choose the word which means most nearly the same as the given word " FRENETIC ".

(A) @ Hyper (Correct Answer) (Chosen option)
(B) O Flexible

(C) O Peaceful

(D) © Calm

Question No.10 Marks: 1.00

Bookmark
Find the word which is correctly spelt from the given options.

(A) O Eroneous
(B) ® Gradiant (Chosen option)
(C) O Fragmanted
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(D) O Exhaustive (Correct Answer)

Question No.11 Marks: 1.00

Bookmark
Fill in the blanks with suitable Preposition from the given alternatives.

She is really angry you.

(A) O in

(B) O since

(C) O among

(D) @ with (Correct Answer) (Chosen option)

Question No.12 Marks: 1.00

Bookmark
Fill in the blank with suitable tense.

My father us to college every morning.
(A) @ drives (Correct Answer) (Chosen option)

(B) O has drove
(C) O drove
(D) O driven

Question No.13 Marks: 1.00

Bookmark
Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'.

After receiving_her master’s degree, Ruby had to complete an internship to become a
specialist in her field.

(A) O After receive her master’s degree, Ruby had

(B) ® After receiving her master’s degree, Ruby have (Chosen option)
(C) O Atfter receive her master’s degree, Ruby have
(

D) O The given sentence is correct (Correct Answer)

Question No.14 Marks: 1.00

Bookmark
Find the word which is correctly spelt from the given options.

(A) O Impanding

(B) O Transiant

(C) O Medeate

(D) O Virtuoso (Correct Answer)

Question No.15 Marks: 1.00

Bookmark
Fill in the blank with suitable word from the given options.

The smoke from the stove was a clear sign something was burning.
(A) O paying

(B) ® emanating (Correct Answer) (Chosen option)

(C) O chatting

(D) O quitting
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Question No.16 Marks: 1.00

Bookmark
Select the one word which can substitute the given phrase/sentence.

One who is for pleasure of eating and drinking.
(A) O Truant

(B) O Heretic
(C) O Grove
(D) O Epicure (Correct Answer)

Question No.17 Marks: 1.00

Bookmark
In the following question, one part of the sentence may have an error. Find out which
part of the sentence has an error and select the option corresponding to it. (Avoid
punctuation errors)

(A) The precautionary dose for the priority group / (B) are available for free at / (C) the
government vaccination centres. / (D) No Error

(A) O A
(B) @ B (Correct Answer) (Chosen option)
(C)O D
D)O C

Question No.18 Marks: 1.00

Bookmark
Select the one word which can substitute the given phrase/sentence.

An error or misprint in printing or writing.

(A) O Usurer

(B) O Hangar

(C) ® Erratum (Correct Answer) (Chosen option)
(D) O Invincible

Question No.19 Marks: 1.00

Bookmark
In the following question, one part of the sentence may have an error. Find out which
part of the sentence has an error and select the option corresponding to it. (Avoid
punctuation errors)

(A) Indian citizens and students travelling / (B) abroad can soon take the third
precautionary dose / (C) of the vaccine against Covid-19. / (D) No Error

(A)O B
B)O A
(C)O C
(D) ®@ D (Correct Answer) (Chosen option)

Question No.20 Marks: 1.00

Bookmark
Choose the word which expresses nearly the opposite meaning of the given word "
DEPOSE ".

(A) O Subvert
(B) O Allow (Correct Answer)
(C) ® Dismiss (Chosen option)
(D) O Bounce
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Question No.21 Marks: 1.00

Bookmark
Select the one word which can substitute the given phrase/sentence.

Anything derived from heterogeneous sources.
(A) O Centennial

(B) O Insolation
(C) O Igloo
(D) @ Hybrid (Correct Answer) (Chosen option)

Question No.22 Marks: 1.00

Bookmark
Choose the correct article to complete the following sentence.

Russian policies are thought by many to be among best in the world.
(A) @ the (Correct Answer) (Chosen option)

(B) O No article
(C)O a
(D) O an

Question No.23 Marks: 1.00

Bookmark
Choose the word which expresses nearly the opposite meaning of the given word "
ENTIRETY ".

(A) O Complex

(B) O Aggregate

(C) O Gross

(D) @ Section (Correct Answer) (Chosen option)

Question No.24 Marks: 1.00

Bookmark
Fill in the blank with the appropriate article a, an, or the, or select the option ‘No article’ if
no article is needed.

The Taj Mahal is one of World’s wonder.
(A) O a

(B) O the (Correct Answer)

(C) O an

(D) ® No article (Chosen option)

Question No.25 Marks: 1.00

Bookmark
Replace the underlined phrase grammatically and conceptually with the help of the given

options. If the given sentence is correct then select the option 'The given sentence is
correct'.

(A) O for see guys completely disregard
B) O to see guys completing disregard

(
(C) ® to see guys completely disregard (Correct Answer) (Chosen option)
(D) O The given sentence is correct
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Question No.1 Marks: 1.00
Bookmark

'A2R'Q VI 'Sl ?

(A) O qee

B) O qe@

(C) O qeia

(D) ® @261 (Correct Answer) (Chosen option)

Question No.2 Marks: 1.00

Bookmark
'6QQld' - 699 AN ?

(A) O ¢Q gee aaia

(B) O §qaaia

(C) O @ey QI (Correct Answer)
(D) O agqi@ aaia

Question No.3 Marks: 1.00
Bookmark
g8 QaG QIR |
A) O gaiqe
(B) O geange

(C) ® genge (Chosen option)
(D) O qé&ge (Correct Answer)

Question No.4 Marks: 1.00
Bookmark
98 Qa6 Ada @Q |
(A) ® Gagea (Correct Answer) (Chosen option)
(B) O Galga
(C) O Gaqa
(

D) O &Gaiga

Question No.5 Marks: 1.00

_ Bookmark
‘Ahelda’ 99 6QIT6R 699 0B 94 ?

(A) O a1
(B) O asen
(C) ® ogei1 (Correct Answer) (Chosen option)
(D) O gael
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0@ 6% o9 G2l ?

(A) O Qqiaqia

(B) O dgada

(C) O Jgaa1a

(D) ® Gqaq1a (Correct Answer) (Chosen option)
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Marks: 1.00
Bookmark

Question No.7

232 ARe A2l QPR 6aQ 28 0@ ?

(A) O ggarGe

(B) O qipiggssn 8Q1e @da!

(C) ® a1 adaiq A8l (Chosen option)
(D) O 2@ gQal (Correct Answer)

Marks: 1.00
Bookmark

Question No.8

Jea 99 FRIQ 629 406 O - Fgia G2l ?

(A) ® qQi@a1 (Correct Answer) (Chosen option)
B) O agie@

(C) O aeiaie1

(D) O aadd

Marks: 1.00
Bookmark

Question No.9

'FAAIF'- QE5R 679 28 0R ?

(A) O @a nea I9ge AR

(B) ® 4@1q1@ (Chosen option)
(C) O 6@ A1Rg 99 908

(D) O 283% (Correct Answer)

Marks: 1.00
Bookmark

Question No.10

'S - 69R AT ?
(A) O qddiag aaIg

B) ® o 99 Q94 (Correct Answer) (Chosen option)

(
(C) O gqaaia
(D) O ey aaia

Marks: 1.00
Bookmark

Question No.11

PDF Downloaded From www.exammix.com

Marks: 1.00
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~e

q@1@ 6RI8IS GAF CIaM'- QA6 2l q‘m@ 6QQ e ?
(A) ® g1 (Chosen option)

(B) O g

(C) O gl

(D) O asen (Correct Answer)

Question No.12 Marks: 1.00
Bookmark

‘07 995 629 IR 997?

(A) O cee

(B) O sceag

(C) O cF6edia

(D) ® ©qQq (Correct Answer) (Chosen option)

Question No.13 Marks: 1.00
Bookmark
‘CRGT I8 FANGIER I9G Q&1?

(A) O Qequan
(B) @ @16qual (Correct Answer) (Chosen option)
(C) O Qeaia
(D) O Gead

Question No.14 Marks: 1.00
Bookmark

Q688 UL '692°Q T8IV Qd 69 |
A) O g9 (Correct Answer)

(
(
(
(

D) O e9@e

Question No.15 Marks: 1.00
Bookmark
Y ANRS’ QB Q@q OR 26 QIg |

(A) O gae ad9l

(B) O eqigl 601G 6aga!

(C) O Qige eaixal

(D) ® eriga 9&86@Ql (Correct Answer) (Chosen option)

Question No.16 Marks: 1.00
Bookmark
‘DA FRQ ARYTERS 99 |
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A) O G+ae
B) ® o@+@ (Chosen option)
C) O o+ae

(
(
(
(D) O 6e+ae (Correct Answer)

Question No.17 Marks: 1.00
Bookmark
‘RR'A FURIBITERIUR 99T 6Rd |
(A) O agie
B) O ag
(C) ® geai@ (Correct Answer) (Chosen option)
D) O q@
Question No.18 Marks: 1.00
Bookmark
209 GaQIGIe IR0 @417

(A) ® qaea (Correct Answer) (Chosen option)
(B) O adea
(C) O aea
(D) O 2qoq

Question No.19 Marks: 1.00
_ Bookmark
‘AP IRQ ADICRS F6M 60Q QUT ARa?

(A) O ge+ag (Correct Answer)
(B) O gg+aim

(C) ® q&+a@ (Chosen option)
(D) O ga+aa

Question No.20 Marks: 1.00
Bookmark

6RI2RI UG 6208 | QTS UG @ YRR I69]81?

(A) O adeig Qiea

(B) O asioe

(C) ® 2qgiQIe@ (Correct Answer) (Chosen option)
(

D) O GaQliee

Question No.21 Marks: 1.00
' Bookmark
699 @6l F68 AIY A°AIGH @ K8 AIFIA AN B A8 [2E?

(A) O gsn qal
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(B) ® @@y @@l (Chosen option)
(C) O geauee @al (Correct Answer)
(D) O geaiey aal

Question No.22 Marks: 1.00
] Bookmark
'G6R IRIRQI- QLR 699 &8l 09 ?

(A) O orq qoa 6aal
B) O o% aaa 6aal
(C) O ¢6n 6010156R
(

D) ® 2iciqy @84l (Correct Answer) (Chosen option)

Question No.23 Marks: 1.00
Bookmark

Felig QId 2IaNR | 6aHIEE J9a §ed 54 Qa |
A) O o

B) ® gaiql Q@@ (Chosen option)

C)O asen

D) O ¢gét (Correct Answer)

(
(
(
(

Question No.24 Marks: 1.00
Bookmark
9691 RI2IQ 648 ? 6QTIRG JF @ gRIQ AR ?

(A) O ggeiee A9a19 (Correct Answer)
(B) O Gdiae adqla

(C) ® qgesIee ALRIT (Chosen option)
(D) O Geadige aaqia

Question No.25 Marks: 1.00
Bookmark
'°ARQ' - IR Qﬂl&iGQl&Gn‘ IR Q'8 ?

(A) ® @@@ (Chosen option)

(B) O @e@ (Correct Answer)
€) O ge
(D) O w@a1
General Studies - General Studies
Question No.1 Marks: 1.00

Bookmark
What is 25% of 50% of 75% of 80% of 45207

(A) O 339 (Correct Answer)
(B) O 359
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(C) O 349
(D) ® 329 (Chosen option)

Visit - www.exammix.com & Download All Shift CBT Question Papers in Hindi and English

Question No.2

Find the next term in the given series.
D73, Y64, T55, 046, ?

(A) O 137
(B) O 136
(C) O H36
(D) @ J37 (Correct Answer) (Chosen option)

Marks: 1.00
Bookmark

Question No.3

Find the fraction of 0.538888...

(A) O 485/900 (Correct Answer)
(B) ® 481/900 (Chosen option)
(C) O 483/900

(D) O 487/900

Marks: 1.00
Bookmark

Question No.4

World's first Deaf T20 Cricket championship in 2023 will be held in which country?

(A) @ India (Correct Answer) (Chosen option)
(B) O New Zealand

(C) O Australia

(D) O SriLanka

Marks: 1.00
Bookmark

Question No.5

Find the next number in the series.
3, 32,135, 384, 875, ?

(A) O 1728 (Correct Answer)
(B) O 1928

(C)O 1628

(D) O 1828

Marks: 1.00
Bookmark

Question No.6

When is Indian Army Day Celebrated?
(A) O February 24th

(B) O September 7th
(C) @ January 15th (Correct Answer) (Chosen option)
(D) O June 16th

Marks: 1.00
Bookmark

Question No.7

In India, the Kisan Credit Card (KCC) scheme was introduced in the year:

(A) O 2000
(B) O 1998 (Correct Answer)
(C) ® 1996 (Chosen option)
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(D) O 1993

Question No.8 Marks: 1.00
Bookmark
Which of the following religions was patronized by King Kharavela of Kalinga?
(A) @ Jainism (Correct Answer) (Chosen option)
(B) © Buddhism
(C) O Saktism
(D) © Brahminism

Question No.9 Marks: 1.00
Bookmark
Find the highest length which can be used to exactly measure the lengths 46 m, 69 m,
92 mand 115 m. (In m)
(A) @ 23 (Correct Answer) (Chosen option)
(B) O 25
(C)O 29
(D) O 27

Question No.10 Marks: 1.00

Bookmark
is a form of government in which the rulers are elected by the people.

(A) O Dictatorship

(B) ® Democracy (Correct Answer) (Chosen option)
(C) O Autocracy

(D) O Aristocracy

Question No.11 Marks: 1.00

Bookmark
The 13th century, Ananta-Vasudeva Temple was built by the

(A) O Queen Tribhubana

(B) O Queen Kalavati

(C) O Queen Parvati

(D) O Queen Chandrika (Correct Answer)

Question No.12 Marks: 1.00
Bookmark
Who is called the "Grand Old Man of India"?
(A) @ Dadabhai Naoroji (Correct Answer) (Chosen option)

(B) O Badruddin Tyabji
(C) O Anandha Charlu
(D) O EV Ramsamy

Question No.13 Marks: 1.00
Bookmark
is the northernmost Union Territory of India.

(A) O Puducherry

(B) O Chandigarh

(C) O Jammu and Kashmir

(D) ® Ladakh (Correct Answer) (Chosen option)
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Question No.14

Marks: 1.00

Bookmark
Where does the River Godavari originate in India?

(A) O Jalagoan

(B) ® Nasik (Correct Answer) (Chosen option)
(C) O Nagpur

(D) O Beed

Question No.15 Marks: 1.00

Bookmark
A train, 167 m long, passes a platform which is 319 m long in 18 seconds. Find the
speed of the train in m/sec.
(A) ® 23 (Chosen option)
(B) O 27 (Correct Answer)
(C)O 29
(D) O 25

Question No.16 Marks: 1.00

Bookmark
Which Indian Freedom fighter raised the slogan, "Freedom is my birth-right and | shall
have it"?
(A) O Pherozeshah Mehta
B) O Badruddin Tyabji

(
(C) O Dadabhai Naoroji
(D) ® Bal Gangadhar Tilak (Correct Answer) (Chosen option)

Question No.17 Marks: 1.00

Bookmark
A bought an article and spent Rs.515 on its repairs. He then sold it to B at a profit of

20%. B sold it to C at a loss of 10%. C finally sold it for Rs.2808 at a profit of 30%. How
much did A pay for the article? (In Rs.)

(A) @ 1485 (Correct Answer) (Chosen option)
(B) O 1497
(C) O 1495
(D) O 1510

Question No.18 Marks: 1.00

Bookmark
How many times was the Preamble of the Indian Constitution amended so far?

(A) ® 1 (Correct Answer) (Chosen option)
B)O 4
(C)O 2
DO 3

Question No.19 Marks: 1.00

Bookmark
A man walked 9km North, then 3km towards East and took a right turn and walked 9km,

then turned right and walked 3km. Finally, he walked 6km towards South. How far and in
what direction is the starting point from the ending point?

(A) O 5km, East

(B) ® 6km, South (Chosen option)

(C) O 7km, South
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Question No.20 Marks: 1.00
Bookmark
If the average marks of three classes of 60, 65 and 70 students are 60, 65, 70
respectively, find the average marks of all the students. (Approximately)
(A) @ 65.2564 (Correct Answer) (Chosen option)
(B) O 67.2564
(C) O 63.2564
(D) O 61.2564
Question No.21 Marks: 1.00
Bookmark
was the only Indian state which has recorded a negative population
growth in 2011 Census.
(A) @ Nagaland (Correct Answer) (Chosen option)
(B) O Arunachal Pradesh
(C) O Manipur
(D) O Assam
Question No.22 Marks: 1.00
Bookmark
Find the next number in the series.
1260, 882, 567, 315, 126, ?
(A) O 32
(B) O 0 (Correct Answer)
(C) ® 16 (Chosen option)
(D)O -16
Question No.23 Marks: 1.00
Bookmark
Where is the headquarters of National Human Rights Commission of India located?
(A) O Chennai
(B) ® New Delhi (Correct Answer) (Chosen option)
(C) O Mumbai
(D) O Kolkata
Question No.24 Marks: 1.00
Bookmark
How many articles are there in United Nations Convention on the Rights of the Child
(UNCRC)?
(A) O 78
(B) O 26
(C) O 54 (Correct Answer)
(D) ® 10 (Chosen option)
Question No.25 Marks: 1.00
Bookmark

6 litres is drawn from a cask full of wine and is then filled with water. This operation is
performed once more. The ratio of the quantity of wine now left in cask to that of the
water is 16:9. How much wine did the cask hold originally? (In litres)

(A) O 26
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(B) @ 30 (Correct Answer) (Chosen option)
(C)O 28
(D)O 24

Question No.26 Marks: 1.00

Bookmark
Which of the following mountains is a domed shaped and of volcanic origin in Odisha?

(A) O Mangalagiri

(B) ® Mankarnacha (Chosen option)
(C) O Meghasani (Correct Answer)
(D) O Malaygiri

Question No.27 Marks: 1.00

Bookmark
In stratosphere, which of the following elements acts as a catalyst for degradation of
ozone?

(A) O Iron

(B) @ Chlorine (Correct Answer) (Chosen option)
(C) O Potassium

(D) O Sodium

Question No.28 Marks: 1.00

Bookmark
If N5921 is divisible by 11, find the value of the smallest natural number N.

(A) @ 8 (Correct Answer) (Chosen option)
(B)O 14
(C)O 10
(D) O 12

Question No.29 Marks: 1.00

Bookmark
Mukteshvara Temple in Bhubaneswar is a 10th-century Hindu temple dedicated to:

(A) O Lord Brahma

(B) @ Lord Shiva (Correct Answer) (Chosen option)
(C) O Lord Vishnu

(D) O Lord Sun

Question No.30 Marks: 1.00

Bookmark
What value should come in the place of question mark (?) in the following question?

(11x11)3 -(121x11)3x(14641)2=11?
(A) O

(B) O

(C©)O 5 (Correct Answer)

(D) ® 9 (Chosen option)

Question No.31 Marks: 1.00

Bookmark
When was the 'Right to Property" removed from the list of fundamental rights in the
Indian Constitution?

(A) O 1968
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(B) O 1999
(C) O 1958
(D) ® 1978 (Correct Answer) (Chosen option)

Question No.32 Marks: 1.00

Bookmark
In this question, a statement is given followed by two conclusions numbered i and
ii. You have to assume everything in the statement to be true, then consider the
two conclusions together and decide which of them logically follows beyond a
reasonable doubt from the information given in the statement.
Statement: Soyabeans and cloves require a fair amount of farming space to grow. Mr.
Ravi has 50 acres of land.
Conclusion:
i) Mr. Ravi can cultivate Soyabeans.
ii) Mr. Ravi can cultivate Cloves.

Choose the appropriate one from the following options
(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or ii follows

(D) Neither i nor ii follows

(E) Both i and ii follow.

(A) O B

(B) O

C)® C (Chosen option)

(

D) O D (Correct Answer)

Question No.33 Marks: 1.00

Bookmark
Rana Pratap Sagar dam is located in which of the following states of India?

(A) O Arunachal Pradesh

(B) ® Rajasthan (Correct Answer) (Chosen option)
(C) O Orissa

(D) O Uttarakhand

Question No.34 Marks: 1.00

Bookmark
Which of the following writs in the Indian Constitution literally means "to be certified"?

(A) @ Certiorari (Correct Answer) (Chosen option)
(B) O Mandamus

(C) O Habeas Corpus

(D) © Quo Warranto

Question No.35 Marks: 1.00

Bookmark
Which Village of Kerala has become the country's first sanitary napkin-free panchayat?

(A) O Kumbalanghi (Correct Answer)
(B) O Kuttanad

(C) O Attappady

(D) ® Nilambur (Chosen option)

Question No.36 Marks: 1.00

Bookmark
Which Article of Part Ill of the Indian Constitution, defines the term 'State'?
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(A) O Article 12 (Correct Answer)
(B) ® Article 13 (Chosen option)
(C) O Article 19

(D) O Article 17

Question No.37 Marks: 1.00

Bookmark
A box containing the denominations of twenty five paise coins, fifty paise coins and two
rupee coins amount to Rs.660. There are equal number of coins in all denominations.
Find the total number of two rupee coins in the box.

(A) O 260

(B) O 230

(C) O 250

(D) @ 240 (Correct Answer) (Chosen option)

Question No.38 Marks: 1.00
Bookmark

A, B and C can complete a piece of work in 723, 482 and 1446 days respectively.
Working together, they will complete the same work in how many days?

(A) O 261
(B) O 251
(C) @ 241 (Correct Answer) (Chosen option)
(D) O 231

Question No.39 Marks: 1.00

Bookmark
A woman walked 3km in the West direction, took a left turn and walked 7km and walked
14km after taking another left. She then walked 7km in the North direction and finally
took a left turn and covered the distance of 4km. How far is the starting point from the
ending point?
(A) @ 7km (Correct Answer) (Chosen option)
(B) O 13km
(C) O 11km
(

D)O 9km

Question No.40 Marks: 1.00

Bookmark
Read the given details carefully and answer the question given below

A+B means A is the sister of B
A-B means A is the brother of B
A*B means A is the father of B
A/B means A is the mother of B

In the relation P/Q-R-S/T, how is R related to T?
(A) O Maternal Grandfather

(B) @ Maternal Uncle (Correct Answer) (Chosen option)
(C) O Paternal Grandmother
(D) O Paternal Grandfather

Question No.41 Marks: 1.00

Bookmark
Pradhan Mantri Kaushal Vikas Yojana (PMKVY) is the flagship scheme of which of the
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following Ministries?

(A) O Ministry of rural development

(B) O Ministry of Youth Affairs and Sports

(C) O Ministry of Micro, Small and Medium Enterprises
(

D) @ Ministry of Skill Development & Entrepreneurship (Correct Answer)
(Chosen option)

Question No.42 Marks: 1.00

Bookmark
A train started from station A and proceeded towards station B at a speed of 212 kmph.

45 minutes later, another train started from station B and proceeded towards station A at
20 kmph. If the distance between the two stations is 855 kms, at what distance from
station A will the trains meet? (In km)

(A) O 785
(B) O 795 (Correct Answer)
(C)O 765
(D) O 775

Question No.43 Marks: 1.00

Bookmark
Which of the following Constitutional Amendment Acts of the Indian Constitution gave
constitutional status to Panchayats?

(A) O 75th Constitutional amendment
(B) O 79th Constitutional amendment
(C) O 77th Constitutional amendment
(D) @ 73rd Constitutional amendment (Correct Answer) (Chosen option)

Question No.44 Marks: 1.00

Bookmark
In a certain code language, if AND is coded as 462 and RAM is coded as 147, then how
is MAN coded?

(A) @ 746 (Correct Answer) (Chosen option)
(B) O 146
(C)O 412
(D) O 627

Question No.45 Marks: 1.00

Bookmark
The standard Meridian of India passes through which of the following cities?

(A) O Raipur

(B) O Annupur

(C) ® Mirzapur (Correct Answer) (Chosen option)
(D) O Janupur

Question No.46 Marks: 1.00

Bookmark
Where was the first session of the Indian National Congress held?

(A) O Madras

(B) O Surat

(C) ® Bombay (Correct Answer) (Chosen option)
(D) O Lucknow
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Question No.47 Marks: 1.00

Bookmark
Sulfurous smog is also known as

(A) O London Smog (Correct Answer)
(B) © Delhi Smog

(C) O Tokyo Smog

(D) ® Los Angeles Smog (Chosen option)

Question No.48 Marks: 1.00

Bookmark
The Kaveri water dispute is between which of the following two Indian states?

(A) @ Tamil Nadu and Karnataka (Correct Answer) (Chosen option)
(B) O Karnataka and Telangana

(C) O Tamil Nadu and Andhra Pradesh

(D) O Telangana and Maharashtra

Question No.49 Marks: 1.00

Bookmark
The famous Barabati Fort was constructed in 1229 A.D by the:

(A) O King Bhanu Deva |

(B) ® King Anangabhimadeva lll (Correct Answer) (Chosen option)
(C) O King Bhanudeva IV
(D) O King Narasimhadeva |

Question No.50 Marks: 1.00

Bookmark
The Champaran Satyagraha of 1917 was the first Satyagraha movement led by
in India.

(A) O Bal Gangadhar Tilak

(B) O Anandha Charlu

(C) ® Mahatma Gandhi (Correct Answer) (Chosen option)
(D) O EV Ramasamy
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